| Efficiency vs Dxy |
0.02

OG-+

Q008
R
0012k
ook g
0B

0008
ot e o o
0002

J--\-Q_IlllilIlli””i””il Ilillllillllillllillll

09—525 “STIETIGoE 0 B 16 1530 35

—=— Orng/DQM_orig_mS
—e— initial/DQM_orig_MS

— —— hi hPtTr| Iet/Dé‘M orig_MS
| Efficiency vs Dz |  detached OTig
0.02

—— detached /D M orlg‘MS
0,018+l

0016t
X CHTZ] SRS S S| IS SN | NS W
0.012F oot f gy il
0.01f - ..... U T
0.008f - .....

0.006f [

0.004f ol
0,002+t
1Q | . .

1.1

TTrrrr[rrot T 11
rre
¥

1

|
W
o
|
N
o
|
|
o
[
S)
N
o
W
o



	Contents
	Page 1


